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@ E ‘ addition av brak (samma ndmnare)

namn: Datum: Poéng:
S L
2 2 5 5
6 3 2 4
— 4+ = = — 4 — =
4 4 9 9
4 2 6 5
—+12= 4=
5 5 7T
4 5 I 5
_+ = =+ =
8 8 3 3
2 3 1 4
7T 9 9
4 6 7 6
9 9 9 9
I 4 4 5
1=+ = = Sy =
5 5 6 6
1 5 6 1
—_ 4+ = = — 4+ - =
6 6 9 9
2 6 2 1
4= my g
9 9 3 3
4 1 5 6
—+1-= 4=
6 6 8 8
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addition av brak (samma ndmnare)
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Datum: Poéng:

I 1 2

4+ ==

5 5 5

2 4 2

4+ ==

9 9 3

6 S5 1l 4
4+l = =1-
77 7
1 5
I-+==3

3 3

I 4 5

4+ ==

9 9 9

7 6 13 4
- = =1-
9 9 9 9
4 5 3 |
—+ I ==1=
6 6 2 2
6 1 7
-4+ = _

9 9 9
Zi1r =2

3 3

5 6 11 3
T+ -_=_—=1=
8§ 8 8 8
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